> 1T UD Y CENTIRE
TIME & WORK Class Work Sheet

1. A can do a piece of work in 20 days and B can do it in 30 days. How
long will they take to do the work together?
A eeuem @ Gsusmevenws 20 pmsefleid, B eaiuauT £/8% Gouemevenul
30 prisefleud QFUIH  (PQLILITTH6T.  elelley, Seualmalmd bl
9lIGaemevenWF CFUIFH (PIYSHdH 61HSHMT BT H6IT DGLD?
Solution:

Work done by Ain1 day = 2—10 , Work done by Bin 1 day = %

work done by A and Bin 1 day = 1,9

20 30

Total number of days required to finish the work by A and B = =

days.

. A and B together can do a piece of work in 8 days, but A alone can do it
12 days. How many days would B alone take to do the same work?
m Gaimevenws A, B @meumid Gaipbg 8 mIl sefled (pgriir. A ol Bib
laBauemevenut 12 BT serfled (Wwigliumm. B wl Gd QFUIsTed oi6iGaienevenul
TIHSHME [HTLH6IM6D  (LPIQLILITT.
solution:

Work done by A and B together in 1 day = % of the work

Work done by Ain1 day = éof the work

Work done by Bin 1 day = 1 1. 3-2 1

8 12 24 24
Number of days taken by B alone to do the same work = Y

Faa
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3. A can do a piece of work in 10 days and B can do it in 15 days. How
much does each of them get if they finish the work and earn ¥15007?
A @m Gauemevenw 10 mriseiod, B oews 15 prisefleud OFuig
ot Smeumd CFMhal  DleiBamevenwts GFuig ¥ 1500 & miigerTev,
DIFH0BTmEMmU eeleuTy Lfsgd GameiteuT?
solution:

Work done by Ain1 day = %

Work done by Bin 1 day = %

Ratio of their work = i: i=3: 2
10 15

Total share = ¥1500
A's share = §x1500: 900

B's share = %xlSOO: $600

. A and B can do a piece of work in 12 days, B and C in 15 days, C and A
in 20 days. In how many days will they finish it together and
separately?

A, B @meaumd @ Beauemevenut 12 mm sefled QFuig appliiur. B, C £6s
Gauemevedws 15 pmisefled Gauig pglr. C, A 906s Goumevenws 20
BT S6le0  Qguig  wpluT.  cpeumd  Gabg  BEBID  HaldHHeluTsa b
9161CaIMEVMUI 6THGHMeT BT H6IMe0 CFuIgh (LPIQLILIT?

solution:

Work done by A and Bin 1 day = %

Work done by Band Cin1 day = %

Work done by Cand A in 1 day = 2—10

Work done by (A +B) + (B+ C) + (C+A) in 1 day = é+%+2i0

5+4+3

Work done by (2A + 2B +2C) in1 day = 50

Work done by 2(A + B+ C)in1 day = 12

60
Work done by A, B and C together in 1 day = E><E=i

2 60 10
~. A, Band C will finish the work in 10 days.

Work done by A in1 day
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(i.e) [(A + B+ C)'s work - (B + C)'s work]
. A will finish the work in 30 days.
Work done by Bin 1 day
1 1 2-1

(i.e) [(A+B+ C)'swork - (C+ A)'s work] = 020" 20 " 20

B will finish the work in 20 days.
Work done by Cin 1 day

(i.e) [(A + B+ C)'s work - (A + B)'s work] =
. Cwill finish the work in 60 days.

1

5. Two taps can fill a tank in 30 minutes and 40 minutes. Another tap can
empty it in 24 minutes. If the tank is empty and all the three taps are

kept open, in how much time the tank will be filled?

R OsT gemw Eh GWTUIS6T SHeldHelGuw penpGui 30 @O mseT, 40
B mFefled MWIlIydSeimser. BOBTMH GWTUl BT B  OFHT genus 24
pLmsefled  &med  OFuwiwgb.  COFTily  STWTE  SMmHbHH DTy
GTUIsEpD @Gy gFoLwHHd HmhaH ILUILILLTD DSCSHTLY  615HFHM60T
BILOL misefled BHIFbLD?

solution:

Quantity of water filled by the first tap in one minute = %
Quantity of water filled by the second tap in one minute = 4—10

Quantity of water emptied by the third tap in one minute = i

Quantity of water filled in one minute, 1,1 1
30 40 24

when all the 3 taps are opened
443-5 7-5
~ 120 120
2 1
120 60

Time taken to fill the tank = 1= 60 minutes

¥60

=1 hour

. A and B together can do a piece of work in 16 days and A alone can do
it in 48 days. How long will B done take to complete the work?
A oppid B g du @meumd Deenhdl @b Gauemevenws 16  mHreisefled
Wit A salCu obs Geuemevenw 48 mEreTseafed (LT eefed, B
SN0 9bHH Couenevenul 61SHHM6N BTETH6NM60 (LPIQLILITT?
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solution:
(A +B)'s1day's work = %

A's 1 day's work = L
48

~.B's 1 day's work = 1 1
16 48

3-1 2 1

48 48 24
..B alone can complete the work in 24 days.

7. A works 3 times as fast as B and is able to complete a task in 24 days less
than the days taken by B. Find the time in which they can complete the
work together.

A gee B = &migend 3 wLmg Gausors @ GCalmevenul OFUIS
(WIRLILITT.  SIeUTTe0 bFHLI LUewflewwl B ei(hdhais Osmewi CrroHems ol 24
BTEIH6T GHMBAUTS IBHH (P19dHdH (PYHMGI. 6efled Dmeaumld CFibhal Db
Gouemevem! (1p1R&HH PG CHIHMS HITeNIb.

Solution:

If B does the work in 3 days, then A will do it in 1 day. That is, the

difference is 2 days. Here, given that the difference between A and B in

completing the work is 24 days. Therefore, A will take 2—24 =12 days and

B will take 3 X 12 =36 days to complete the work separately.

Hence, the time taken by A and B together to complete the work = ab

a+b
days.
12x36 12x36

12+36 48

=9 days

8. P and Q can do a piece of work in 20 days and 30 days respectively.
They started the work together and Q left after some days of work and
P finished the remaining work in 5 days. After how many days from the
start did Q leave?
P oppip Q ou@dCuwnt @ Gauemsvenws (wenp@w 20 wmmid 30 ®mreiseisd
QLT  SleuTHeT @meum oaiBTed GaFibg Geusmevenuld OHTL M 6.
flev meseT Geuemev OFUIH 1IBE Q SemalT OFaIBIIBABITT.  WBSH(LpeiTeT
BGauemevemul P gpemeu 5 Breseled (LPQHAMIT elefev, CHTL MmIEWIH e (HHS!
ashHmer BreTsEhdhE LG Q Geaumevenws ol BF OFeammT?
solution:

P’s 1 day’s work = Zio and Q’s 1 day’s work = %
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P’s work for 5 days = ixS:izl
20 20 4

Therefore, the remaining work = 1- % = % (Total work is always 1)

This remaining work was done by both P and Q.

Work done by P and Q in a day = 2_10+3_1O:6_SO:$

3
Therefore, the number of days they worked together A=§x% =9 days

My

So, Q left after 9 day from the days the work started.

. A and B can do a piece of work in 12 days and 9 days respectively. They
work on alternate days starting with A on the first day. In how many
days will the work be completed?

A ioppid B et @ Gauemevenwt (pempB@ui 12 meise ommid 9
Bredefled GFuleuT (1pHe0 HTeT A @m5 OCatewh Geoumevenuid GCHTLHIS
SIbSHH0HH  Breideied  @maurpld  Geumevenw!  CFUISlIBETT 6160160,
GouemeowITenigyl 615HHEM6T [HT6ITH6IMED (LPIQULD?

Solution:

Since they work on alternate days, let us consider a period of two days.

In the period of 2 days, work done by A and B = é+é=3—76

If we consider 5 such time periods for the fraction % (we consider 5

periods because 7 goes 5 times completely in 36),

work done by A and Bin 5 x 2 (=10) days =5 x 37_623_2

Therefore, the remaining work = 1- 2_2 - %

This is done by A (why?) in %xm =% days

So, the total time taken = 10 days + %days = 10% days

10.X, Y and Z can do a piece of job in 4, 6 and 10 days respectively. If X, Y
and Z work together to complete, then find their separate shares if they
will be paid ¥3100 for completing the job.

X, Y ppi Z @8t g Geuemevenut (pewmGuwi 4, 6 wompid 10
BreTdemed (wigliT. X, Y wBmidb Z opdul cpaumld el CFmbal Sibhs
Gauemevenll (LPIQHBTeL, DFHBHTH DITHEHGEEG I 3100 eupBIBILIGD  6fefle0,
SIUTHET HelGHHeNGul OUBILD LIKIEGHN6NES SHTewIS.

Solution:
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Since they all work for the same number of days, the ratio in which they
share the money is equal to the ratio of their work done per day.

Thatis, =i =—=—":—:
4 610 16 60 60
Here, the total parts: 15+ 10 + 6 = 31
Hence, A's share = ;—ix3100: Rs.1500, B's share = é—ixsloo =Rs.1000 and

C's share is ¥3100 - (¥1500 + ¥1000) = ¥600.
5 Marks :

A is thrice as fast as B. If B can do a piece of work in 24 days, then find
the number of days they will take to complete the work together.

A eaaauT B esiuauenys  smlgeoid Geuemev OFUleudled clpediml DL MBIG,
Gousiomeiau. B oueieum @b Gauewevenuws 24  mreTderiled (LPQUIUTT  eTenllev,

Bmeurpld Bemenihd DibHSH Gouemevenul (PIYHDH 61HHM HT6NTH6T 6I(HHHIH
O®ITeiTeUT 616018 SHTEMISb.

Amutha can weave a saree in 18 days. Anjali is twice as good a weaver
as Amutha. If both of them weave together, in how many days can they

complete weaving the saree?

DWPST, H Bsemevenw! 18 [HI6THaMN60 OBHWIATT DiEhFed, DILWSHTme Gl
OpUIaISH G WLFIEG HBMFTeY BHaUHD Bemenhbd OBUISTED, DHHF
BFemeveml 6THHMET HT6ITH6N60 OIBUIZHI (LIQLILIT?

A can finish a job in 20 days and B can complete it in 30 days. They
work together and finish the job. If ¥600 is paid as wages, find the share
of each.

A @m Gauemevenws 20 prsefleid, B 2185 Gaiewevenws 30 B sefevid
apgriuT.  Smeurmid Cahgl Gauemev GFuIgl, ieiGaienevenut (pipdhgk I 600
&M FHEGBET QUHUTWTSL OCUBBEIT 6leNed DIUTH6T eelOleuT(HEUHLD  CUBID
OFTeNs®  6l6leU6NT6)]?

A tap can fill a tank in 15 minutes. Another tap can empty it in 20
minutes. Initially the tank is empty. If both the taps start functioning,

when will the tank become full?

QM GWTU &sTedwns 2 6ol GeTlgenwl 15 BIOL mgseTed BIFlyw. BT
Gl BT mHiFblueten SIHCST genw 20 B mseled &Ted  GFuiub.
OJDUSFHeD QBT  STelwnrs Gbba, Bk GWTwusend 96y CrrHde
HBhGH LU’ LTD, DIHOHTLIY eTelelene] HILOL MG Ted HIFbLLD?
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A can do a work in 4 days, B in 5 days and C in 10 days. Find the time
taken by A, B and C to do the work together.

A eeuaT @m Geumevenw: 4 mT Hefevd, B eeiueut 5 mrlsefed C
aauauT 10 BT sefleud wpliur. A, B, C aer apaumd Caihg OFUIHTe0
SIHS Ceumevenuwl (PYHBH 615HSHMENT BT &6 SLEHLD?

7.5 Marks

A tap A can fill a drum in 10 minutes. A second tap B can fill in 20
minutes. A third tap C can empty in 15 minutes. If initially the drum is
empty, find when it will be full if all taps are opened together?

A aaip @t @m Guiw urtsHrHmsd SelCw 10 AL MISeTed BiFliL.
B e @wmul 9185 ursHrsamnssd HeiGuw 20 Mo misefsd ML, B
pridwerenr  ouTSHTHmad  C e @wtul 15 Pl kiseied  &mel
QFUIWD. SLTIDLIGHSHD UTSHHTD STelWnd @(HbHEH, GSIDeLpeTsl (G LOTUISHE6TULD
SHBHSHTE0, DILIUTHHID HIFbL eTeleuene] GBILOTELD?

A and B can do a piece of work in 12 days, while B and C can do it in 15
days whereas A and C can do it in 20 days. How long would each take
to do the same work?

A oppb B o@8wnm e Geuemevenws 12 pmreisefied, B wmpid C
oFCwnt  oemx 15 mpretsefled A mpid C  ACunT  gewgd 20
BTETHMID  (PULT.  alCeuT(heumd  HeldhHalGw  obH  Ceusnevenul
THHEMS HTLH6160 (LPIQLILIT?

5 boys or 3 girls can do a science project in 40 days. How long will it

take for 15 boys and 6 girls to do the same project?

5 LOTEMIOUTH6T SleveLH 3 Tewialdel @ Sflalued SHLF OFuwensv 40
BTe&eled (PQLILIT. 15  LOTewIoNTH6T WLBBID 6 TawalseT 965 HLF
CQFWemED (PIPSHB 61SHHEN [BTETTHETTEGLD?

A, B and C can complete a work in 5 days. If A and C can complete the

same work in 7% days and A alone in 15 days, then in how many days

can B and C finish the work?
A, B ioppid C g du apaum @@ Geauemevenul 5 Hieiseflsd (plir. A

ppid C oG 918 Geaumevenul 7% BreTdemed A gpemeuT HelGu

omg 15 prentsefed applinT  eefsd, B wmpid C a0wnm  obs
Gouemevenll (P19 615HHEMET [BT6ITH6IT LESHLD?
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10 Marks

10. A can do a work in 45 days. He works at it for 15 days and then, B alone
finishes the remaining work in 24 days. Find the time taken to complete
80% of the work, if they work together.
A s @ Geuemevenuwl 45 HT6TH6M60 (PQUIUTT SieuT 15 HI6THEHEHS
BB Geuemev QFWIHTT. LIB&, B opemeut Wambeh Geuemevuiener 24
BTeIH6M60  (PIHBMIT.  SHeumd Bemenihgkl GCoauemev GFUIHTD, DIHD
Gouemevulest 80% 3 (pHsd DG CHISHMBH HTENHISH.

X alone can do a piece of work in 6 days and Y alone in 8 days. X and Y
undertook the work for ¥4800. With the help of Z, they completed the
work in 3 days. How much is Z’s share?

X ereuaut FHiGw @ Couemevenws 6 [mEeTHefeDd, Y eretUeuT  HellGul
9I8s Gauemevenws 8 mredefenid (wipliT. X wBmd Y sSCwnT Bphs
Gauemevenws ¥ 4800 B&& ¢liys OCameviienm. 7 eeieufle 2 Helujl 6
SITHET HH Ceuemevenwl 3 HT6TH6T60 (LPIYHBHTT 6elelon, CFHTensuied Z
BT UMIG 6l61161616,?

A takes 6 days less than the time taken by 5 to finish a piece of work. If
both 4 and B together can finish it in 4 days, find the time that 7 would

take to finish this work by himself.

am Goumevenwid Gauw  A-5 Beow el 6 [priseT  GompaTdss
CapemauiLBamaE. BDmeumbd  CaFiba  SleiGamevenwtsd OCFIHTeL Siews 4
BT &6eMed  (plpdhd  Buisvild etelled, B  HallCu  i6iGauemevenul 615 5H6mea
BT SH6l60 (PI9&Hd BuIg)d?

3 men and 4 women can earn ¥ 3780 in 7 days. 11 men and 13
women can earn ¥ 15040 in 8 days. In what time will 7 men and 9
women earn ¥124007?

3 oueniden WBBID 4 GuenideT 7 BT &6T @ Gouensy GFUIISHET cLpeLD ¢
3780 emgluions GuUpIFSBeIT. 965 Geumevenwt 11 SewiseT wBWID 13
Quemide OFUIUSHTED 8 BTL&HEHHEG ¢h 15040 g oagluioms  OLMBMBT6L,
98 Gouemevenu! 7 SLewIH6T WBBID 9 OuewideT Oguig cp 12400 & Oum
G BT H6il6i  6TewT6mNdhemnd ?

15 Mark

14. (A) It takes 24 hours to fill a swimming pool using two pipes. If the pipe of
larger diameter is used for 8 hours and the pipe of the smaller diameter is
used for 18 hours. Only half of the pool is filled. How long would each pipe
take to fill the swimming pool.
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Bm OeueuGoum Slee] el L (LW  GTUIS6T (PeOD @H BHEFFD (G6NHSH0
(Wpemowimd BT Biglu 24 el GBID SuGD. SFHs el L(penLwl GloTenw! 8
et GBI GHwmhHe Il L (penLuwl GTeowl 18 wewfl CohIupd LWETLIGSHS BT
BIUdermed HFFO GHeNHH60 LTEH SieNa] BT HIFDLD eleled, HAHHHNULTS DibHsH
GUTUISmeNS OaTemi(h bHFFL GH6MD (PUPUHID BT [HFUL G  HT6V
DI6116)|H6N6TE  SHIT6ENTS.

(B) Arul, Ravi and Ram working together can clean a store in 6 hours.
Working alone, Ravi takes twice as long to clean the store as Arul does.
Ram needs three times as long as Arul does. How long would it take
each if they are working alone?

SI(HelT, @yal BBID @JTD  cpaurHD Smenbd @ SHoLW 6 LD6w
CrrHaleL FHPHD OCFUIH@IBEIT. HNSHHAMNUTEF GHFHBD OFUIHTED DI(HEM6NL
Gumev LM Cryb @rel sabhdHdHd Oemeidmrt. Guwed @JTD, SimHerler
BBy HemHLIGLITeL (LPLDLOL_ThIE) T(HSHHIHOBTETHIWBITT 6T6uTl6v, CLPGU(THLD
SHANHSHANWITSH eTelleuene] GHID 6IHHHIH OBTETEUTTH6IT?

(A) 4 Indians and 4 Chinese can do a piece of work in 3 days. While 2
Indians and 5 Chinese can finish it in 4 days. How long would it take for

1 Indian to do it? How long would it take for 1 Chinese to do it?

4 @bhHuiseT wBBID 4 Jeisel GCaipbaml 3 HIeTHeNed @h Goauensvenul
(P&HIPTTE6T. 2 QbHHWTH6T B@ID 5 Feirsel GFba 96 Geauemnsvenul
4 BI6eTH6M60 (P&SHBTHET 6olele0, @Uuemienwldh SHolwns @ SbSHwIT
IHSHMe  [BI6THeMe0 OFWIVTT? h JeT HeluiTeds 6THHENT  [HT6TSH6IT60
g uwieur?

(B) Eight men and twelve boys can finish a piece of work in 10 days
while six men and eight boys can finish the same work in 14 days. Find
the number of days taken by one man alone to complete the work and

also one boy alone to complete the work.

8 oewidel mmId 12 FAmieuTser Caibg @ Geausmevenws 10 BT Heifled
Qauigl Wl £108% Geaumevenu! 6 SewidHeT LBWID 8 FmeuTser CaFTbhgl
14 pT sefled GQFuIg WQLILIT. @hH et Helwns DieIGaIN60MUI 615366
BT Heilled GaFuig wiplint? ¢ Fmleue Helwns DleIGaImevemU 615 3H6M6
BT &6Me0 OFUIFH (PIQLILITEST?

A can complete a work in 10 days, B in 12 days and C in 15 days. All of
them began the work together, but A had to leave the work after 2 days
of the start and B, 3 days before the completion of the work. How long
did the work last?

A, B, C 9808uni g@m Geaumevenuws (wenm@uw 10, 12, 15 B sefled (1pigLiLi.
apaumbd  Cahal  SieIGamevenul QBT mISeT, A eaaT  $i6IGaImeD
T mSw B BT seEhdhd LUaiaibd, B e o6iGame (LpaIHBE
eIyl BT &6 (eiyd  CleueMGuipslentT eteled SibdH GCouemsv (LPIQUI  HLELD
(BITL_&b61T?
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